

File Number

Title

## **City of West Allis Matter Summary**

Status

7525 W. Greenfield Ave. West Allis, WI 53214

R-200	9-0073	Resolution		In C	ommittee					
		Resolution to appro					tary spot relay			
		in various locations		of West Allis, ir	the amount	of\$568,466.20.				
		Introduced: 3/3/2009	troduced: 3/3/2009 Controlling Body: Public Works Committee							
				Spor	nsor(s): Public	Works Committee				
			• 7							
COMMITTEE	RECOM	MENDATION _	adopt							
	MOVER	SECONDER		AYE	NO	PRESENT	EXCUSED			
ACTION			Barczak				X			
DATE:			Czaplewski	-						
3-3-09			Kopplin							
			Lajsic Narlock							
			Reinke							
			Roadt	-						
	1		Sengstock	_						
			Vitale							
			Weigel	~						
			TOTAL							
SIGNATURE O	F COMM	ITTEE MEMBE	R							
			MMey	1						
Chair	Vice-0	Member								
COMMON CO	UNCH A	CTION	AD	OPT						
COMMON CO	UNCIL A	CITON_								
ACTION	MOVER	SECONDER	Barczak	AYE	NO	PRESENT	EXCUSEI			
DATE:			Czaplewski	/			-			
			Kopplin	1						
AR 0 3 2009			Lajsic	./						
			Narlock	1						
			Reinke	1						
			Roadt	/						
			Sengstock	/						
			Vitale	V		No. of the last of				
	-		Weigel	,			The state of the s			

TOTAL

eng.

# STANDING COMMITTEES OF THE CITY OF WEST ALLIS COMMON COUNCIL

#### **ADMINISTRATION & FINANCE**

#### PUBLIC WORKS

#### SAFETY & DEVELOPMENT

Chair: Kurt E. Kopplin Vice-Chair: Vincent Vitale

Thomas G. Lajsic Richard F. Narlock Rosalie L. Reinke Chair: Gary T. Barczak Vice-Chair: Martin J. Weigel Michael J. Czaplewski

Daniel J. Roadt James W. Sengstock Chair: Thomas G. Lajsic Vice-Chair: Richard F. Narlock

Kurt E. Kopplin Rosalie L. Reinke Vincent Vitale

#### LICENSE & HEALTH

Chair: Michael J. Czaplewski Vice-Chair: James W. Sengstock

Gary T. Barczak Daniel J. Roadt Martin J. Weigel

#### ADVISORY

Chair: Rosalie L, Reinke Vice-Chair: Daniel J. Roadt

Kurt E. Kopplin Richard F. Narlock Vincent Vitale



### City of West Allis

7525 W. Greenfield Ave. West Allis, WI 53214

#### Resolution

File Number: R-2009-0073 Final Action:

MAR 0 3 2009

Sponsor(s):

Public Works Committee

Resolution to approve bid of C.W. Purpero, Inc. for sanitary sewer relays and sanitary spot relays in various locations within the City of West Allis, in the amount of \$568,466.20.

WHEREAS, The Board of Public Works reports that it duly advertised for bids for the furnishing of certain materials and the performance of all work required for the improvements in a certain area as hereinafter described; that the bids received as shown on the attached bid report were reasonable and hereby recommends and deems it to be for the best interests of the City of West Allis that the bid of C.W. Purpero, Inc. for 2009 Project No. 4 be accepted.

NOW, THEREFORE, BE IT RESOLVED By the Common Council of the City of West Allis that the bid of C.W. Purpero, Inc. for 2009 Project No. 4:

Sanitary sewer relays and sanitary spot relays in various locations in the City of West Allis

PLAN FILE NOS. S-1358, S-1359, S-1360, S-1361, S-1362, S-1363, X-797, X-798, X-799, X-800, X-801

for the sum of Five Hundred Sixty-eight Thousand Four Hundred Sixty-Six and 20/100 Dollars (\$568,466.20)

be accepted, and the proper City officers are hereby authorized and directed to enter into contractual relations with said contractor for the performance of said work, in accordance with the prices submitted in their proposal and with the specifications of the City of West Allis, and that all other bids received for same be rejected; and,

BE IT FURTHER RESOLVED That said improvements be installed with funding by Sanitary Sewer Funds.

ADOPTED

MAR 0 3 2009

Paul M. Ziehler, City Admin. Officer, Clerk/Treas.

APPROVED

Dan Devine, Mayor

City of West Allis 2009 Project No. 4 Bid Opening - 2/26/09

#### SANITARY SEWER RELAYS AND SANITARY SPOT RELAYS

Various Locations within the City of West Allis

					Bid Bond 5%		Bid Bond 5%		Bid Bond 5%	
		C.W. Purpero, Inc.		Globe Contractors, Inc.		MJ Construction, Inc.				
		1190 W. Rawson Ave.		N50 W23076 Betker Rd.		8617 W. Kaul Ave.				
					Oak Creek, WI 53154		Pewaukee, WI 53072		Milwaukee, WI 53225	
,	ITEM		JNITS	PRICE TOTAL		PRICE TOTAL		PRICE TOTAL		
	1 8" Sanitary Sewer Relay	2,394	Lin. Ft.	\$111.00	265,734.00	\$122.00	292,068.00	\$141.00	337,554.00	
	2 3'-6" Diameter Sanitary Manhole (11)	136	Vert. Ft.	\$249.00	33,864.00	\$140.00	19,040.00	\$150.00	20,400.00	
;	3 3'-6" Diameter Rebuild Sanitary Manhole (3)	5	Vert. Ft.	\$416.00	2,080.00	\$900.00	4,500.00	\$500.00	2,500.00	
	4 3'-6" Diameter Sanitary Manhole Replacement (5)	58	Vert. Ft.	\$593.00	34,394.00	\$400.00	23,200.00	\$500.00	29,000.00	
	5 8" Sanitary Outside Drop Manhole Reconnection	1	Unit	\$6,200.00	6,200.00	\$1,500.00	1,500.00	\$2,000.00	2,000.00	
(	6 8" Sanitary Spot Relay	17	Units	\$3,960.00	67,320.00	\$3,500.00	59,500.00	\$4,000.00	68,000.00	
20	7 6" Dia. Building Sanitary Sewer (4)	40	Lin. Ft.	\$230.00	9,200.00	\$100.00	4,000.00	\$150.00	6,000.00	
8	8 Sanitary Reconnect	122	Units	\$56.00	6,832.00	\$500.00	61,000.00	\$50.00	6,100.00	
	9 Sanitary Manhole Abandonment	3	Units	\$472.00	1,416.00	\$300.00	900.00	\$300.00	900.00	
1	Temporary Sanitary Sewer Connection	1	Unit	\$3,700.00	3,700.00	\$3,000.00	3,000.00	\$1,500.00	1,500.00	
1	1 Type "A" Pavement Replacement	975	Sq. Yds.	\$62.00	60,450.00	\$60.00	58,500.00	\$70.00	68,250.00	
1	2 Type "B" Pavement Replacement	722	Sq. Yds.	\$41.00	29,602.00	\$42.00	30,324.00	\$42.00	30,324.00	
1	3 H.E.S. Concrete Pavement Replacement	170	Sq. Yds.	\$50.00	8,500.00	\$50.00	8,500.00	\$60.00	10,200.00	
1	4 Hot Mix Asphalt Pavement, (Type E-0.3)	71	Tons	\$176.00	12,496.00	\$120.00	8,520.00	\$200.00	14,200.00	
1	5 Pavement Ties	1,862	Units	\$6.10	11,358.20	\$5.00	9,310.00	\$6.00	11,172.00	
4	6 Aggregate Slurry Backfill	79	Cu. Yds.	\$55.00	4,345.00	\$46.00	3,634.00	\$60.00	4,740.00	
1	7 Type "A" Lawn Replacement	10	Sq. Yds.	\$30.00	300.00	\$20.00	200.00	\$50.00	500.00	
.1	8 Type "C" Lawn Replacement	200	Sq. Yds.	\$12.00	2,400.00	\$10.00	2,000.00	\$10.00	2,000.00	
1	9 Inlet Protection Barrier	95	Units	\$45.00	4,275.00	\$40.00	3,800.00	\$20.00	1,900.00	
2	0 Traffic Control	1	Lump Sum	\$4,000.00	4,000.00	\$6,000.00	6,000.00	\$2,000.00	2,000.00	
	Total				568,466.20		599,496.00		619,240.00	
								***************************************		

City of West Allis 2009 Project No. 4 Bid Opening - 2/26/09

#### SANITARY SEWER RELAYS AND SANITARY SPOT RELAYS

Various Locations within the City of West Allis

Γ					Bid Bond 10%		Bid Bond 5%		Bid Bond 5%	
					Willkomm Excavating &		Rawson Contractors, Inc.		Super Excavators, Inc.	
		Grading, Inc.		P.O. Box 566		N59 W14601 Bobolink Ave.				
		17108 County Line Rd.		ACC DIRECT ROWNERS CHICAGONIC		Menomonee Falls, WI 53051				
		Union Grove, WI 53182								
	ITEM	·	JNITS	PRICE	TOTAL	PRICE	TOTAL	PRICE	TOTAL	
1	8" Sanitary Sewer Relay	2,394	Lin. Ft.	\$114.00	272,916.00	\$140.00	335,160.00	\$152.00	363,888.00	
, 2	3'-6" Diameter Sanitary Manhole (11)	136	Vert. Ft.	\$310.00	42,160.00	\$250.00	34,000.00	\$123.00	16,728.00	
3	3'-6" Diameter Rebuild Sanitary Manhole (3)	5	Vert. Ft.	\$365.00	1,825.00	\$325.00	1,625.00	\$2,850.00	14,250.00	
4	3'-6" Diameter Sanitary Manhole Replacement (5)	58	Vert. Ft.	\$660.00	38,280.00	\$300.00	17,400.00	\$1,000.00	58,000.00	
5	8" Sanitary Outside Drop Manhole Reconnection	1	Unit	\$4,150.00	4,150.00	\$10,000.00	10,000.00	\$3,000.00	3,000.00	
6	8" Sanitary Spot Relay	17	Units	\$5,700.00	96,900.00	\$5,000.00	85,000.00	\$5,500.00	93,500.00	
7	6" Dia. Building Sanitary Sewer (4)	40	Lin. Ft.	\$220.00	8,800.00	\$150.00	6,000.00	\$450.00	18,000.00	
8	Sanitary Reconnect	122	Units	\$120.00	14,640.00	\$135.00	16,470.00	\$35.00	4,270.00	
9	Sanitary Manhole Abandonment	3	Units	\$500.00	1,500.00	\$250.00	750.00	\$1,500.00	4,500.00	
10	Temporary Sanitary Sewer Connection	1	Unit	\$4,500.00	4,500.00	\$750.00	750.00	\$3,500.00	3,500.00	
11	Type "A" Pavement Replacement	975	Sq. Yds.	\$69.00	67,275.00	\$50.00	48,750.00	\$61.00	59,475.00	
12	Type "B" Pavement Replacement	722	Sq. Yds.	\$46.00	33,212.00	\$45.00	32,490.00	\$40.00	28,880.00	
13	H.E.S. Concrete Pavement Replacement	170	Sq. Yds.	\$51.00	8,670.00	\$55.00	9,350.00	\$48.00	8,160.00	
14	Hot Mix Asphalt Pavement, (Type E-0.3)	71	Tons	\$205.00	14,555.00	\$135.00	9,585.00	\$130.00	9,230.00	
15	Pavement Ties	1,862	Units	\$5.00	9,310.00	\$8.00	14,896.00	\$6.00	11,172.00	
16	Aggregate Slurry Backfill	79	Cu. Yds.	\$52.00	4,108.00	\$60.00	4,740.00	\$55.00	4,345.00	
17	Type "A" Lawn Replacement	10	Sq. Yds.	\$35.00	350.00	\$10.00	100.00	\$10.00	100.00	
-18	Type "C" Lawn Replacement	200	Sq. Yds.	\$13.00	2,600.00	\$5.00	1,000.00	\$5.00	1,000.00	
19	Inlet Protection Barrier	95	Units	\$50.00	4,750.00	\$30.00	2,850.00	\$100.00	9,500.00	
20	Traffic Control	1	Lump Sum	\$500.00	500.00	\$2,500.00	2,500.00	\$10,000.00	10,000.00	
	Total				631,001.00		633,416.00		721,498.00	